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QUESTION 1

True or false: given the information in the Data Audit Quality table below,

sme sen oceeme (G[S|HMl= W
Augh Qualty Amtatons.
Complete fields (%): Complete records (%)

| Field | Measurement | Oufiiers Exte. | Action ImputeMissing | Method % Complete < Vaiid Record
> logwire & Continuous 1 OMone  MNever Fixed 296 '

logequi 49 Continuous 1 0 Mone Mever Fixed 38.6

logtoll & Continuous 2 OMNone  Never Fixed 475 -

logcard Continuous 2 ONone  Never Fixed 67.8 |

region Nominal | — o Never [Fixed | 100 1

tenure & Continuo : 100 1
{:} age g Continuo Generate Filter from Qulllt}f - 100 1
<2 marital @ Flag. Mode: @ include: © Exclude 100 1
# address & Continu : - 100 1
8 income ¢ Continuoud | © Seleded fields 100 1

ed ofl Ordinal 100

=]
| © Fields with qualty percentage higherthan % | 700[& |

oK) (cancs) L1isp J

the generated Filter node will exclude only the fields logwire, logequi, logtoll, and logcard.

A. True
B. False

Correct Answer: A

QUESTION 2

Which method would be used on the Merge node in order to combine a file containing 100 products and a file containing
50 suppliers and retain only the matching records?

A. Inner join

B. Anti-join

C. Full outer join
D. Partial outer join

Correct Answer: A

QUESTION 3
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True or false: in the stream below The CHAID node and Neural Net node can be combined in a single Supernode.

- o~ /ﬂ"—" .
) — 552 — churn

telco x modeling dat. Filler Diata Kmown Type \
chum

A. True
B. False

Correct Answer: B

QUESTION 4

True or false: the Feature Selection node adds a Model Nugget to the stream.
A. True

B. False

Correct Answer: A

QUESTION 5

Which node can be used to impute (estimate) missing values?
A. Data Audit node

B. Balance node

C. Filler node D. Reclassify node

Correct Answer: A
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